HRTHRBEME I -T2 —INXEEE (Fl2 6 FE)

I A (BfsL - F)
H OH NR &
FBHN D ORER
N# - SeBOKE - SNRERE 6,514,000
R (FEREED
FI AR I Z DR S 351,000
A & 6,865,000
X H (B - M)
H OH N &
=8 UNTIE S 4,140,000
NS -
3 4,140,000
aUBE 694,000
7T AR} 686,000
JEEK AKE R 100,000
PR 70,000
B 1,550,000
el 105,000
T 208,000
G H P{R5F 104,000
THBG R - Bk 30,000
PAN H#E) N7 RST 120,000
EE o) k=g 150,000
= 3 L 57,000
SRR AR AR 50,000
=t 824,000
THFESLEY - EHER - (R SR AEL « SRERBUEHT 2 301,000
HHE
=t 301,000
- oot bR # 50,000
B 50,000
X AE 6,865,000




